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5= X 4 .(El,na; 'Fin‘m(z)d)ﬁﬁﬁﬁ ﬁ(&itn%é X 4 Th£%§$;k¢ .z,n? ﬁ(&itn%é X 4 ,(El,na; J:iﬁ?b(z)o)ttlsl ﬁ(&itn%é X 4 J:imyb(z)a)tt.a .z,n? ﬁ(&itn%é
1 100kN/ Mm% %% - ~ -[3mZERBZ S -~ - -| 100kN/mMi%#8Z % - ~ -[3mZERBZ S ~ -
Thilst 100|000 ~ 724 9217 | #hlust | 000 ~ 724|244 13.08 ThLlst 100|500 ~ 1028 9217 | #hUS | 5.00 ~ 1028 2.44 13.08
2 100kN/mM#{B25| 1.00)| 000 ~ 037 10544 |3m%ExBZ5 ~ -| 100kN/mi%E#BZ 5| 1.00 | 1055 ~ 1154 105.44 |3m%EHBZS ~
Thilst 100037 ~ 815 100.00 | This | 000 ~ 815|222 11.86 ThLlst 100|500 ~ 1055 100.00 | =hst | 500 ~ 1154|222 11.86
3 100kN/m##z25| 1.00)| 000 ~ 0.03 100.45 |3m%ExBA B ~ -| 100kN/m%#BZ 5| 1.00 | 1078 ~ 1086 100.45 |3m%E#BZ5 ~ -
Zzh s 100003 ~ 782 100.00| This | 000 ~ 782|230 12.33 Zzh s 100|500 ~ 1078 100.00 | Zhst | 500 ~ 1086\ 2.530 12.33
4 100kN/m##z25| 1.00)| 000 ~ 0.53 107.81 |3m%x{B2 5 ~ -| 100kN/mi%E#BZ 5| 1.00 | 1069 ~ 1214 107.81 |3m%E#EAS ~
Thilst 100|053 ~ 831 100.00 | #nst | 000 ~ 831|228 12.19 ThLlst 100|500 ~ 1069 100.00 | =hs | 500 ~ 1214|228 12.19
5 100kN/ Mm% %% ~ -[3mZERBZ S ~ -| 100kN/mMi%#8Z % ~ -[3mZERBZ S ~
zh sk 1.00 | 0.00 ~ 6.48 81.62 | =N | 000 ~ 648 1.80 9.65 Zzh s 1.00 | 5.00 ~ 7.73 81.62 | =N | 5.00 ~ 7.73 | 1.80 9.65
6 100kN/m%#8 %% ~ -[3mZERBZ S ~ -| 100kN/mMi%#8 %% ~ -[3mZERBZ S ~
Zzh s 1.00 | 0.00 ~ 6.29 79.05 | =nUS | 000 ~ 629|175 9.35 zh s 1.00 | 5.00 ~ 7.33 79.05 | TnLUS | 500 ~ 733|175 9.35
. 100kN/m%#8Z % ~ -[3mZERBZ S ~ -| 100kN/mMi%#8Z% % ~ -[3mZERBZ S ~
ThLlst 100|000 ~ 521 64.92 | Fhidst | 0oo ~ 521|175 9.35 Zzh s 100|500 ~ 560 64.92 | =hs | 500 ~ 5.60|1.75 9.35
g 100kN/m%#8Z % ~ -[3mZERBZ S ~ -| 100kN/mMi%#8% % ~ -[3mZERBZ S ~
Zzh st 1.00 | 0.00 ~ 486 60.58 | TnLS | 000 ~ 0.00]| 1.65 8.81 zhLs 1.00 | 5.00 ~ 5.20 60.58 | ThLS | 5,00 ~ 520 1.65 8.81
100kN/m%#8Z % ~ InEHBZD ~ 100kN/ Mm% % % ~ ImEREZ D ~
zh sk ~ Zh st ~ Zzh s ~ Zzh st ~
100kN/m%#8 %% ~ ImEHBZD ~ 100kN/mM%#8 % 5% ~ ImEREZ D ~
zh sk ~ Zh st ~ Zzh s ~ Zzh st ~
100kN/m%#8Z % ~ ImEHBZD ~ 100kN/m%#8 % % ~ ImEREZ D ~
Zzh sk ~ Zh st ~ Zzh s ~ Zzh st ~
100kN/mM#%#8 %% ~ InEHBZD ~ 100kN/mM%#8 % % ~ ImEREZ D ~
Zzh sk ~ Zh st ~ Zzh s ~ Zzh st ~
100kN/mM#%#8 %% ~ InEHBZD ~ 100kN/mM%#8Z 5% ~ ImEREZ D ~
Zzh s ~ Zzh st ~ Zzh s ~ Zh st ~
100kN/m%#8Z % ~ InEHBZD ~ 100kN/mM%#8Z 5% ~ ImEREZ D ~
Zzh sk ~ Zh st ~ zh s ~ Zzh st ~
100kN/m%#8Z % ~ InEHBZS ~ 100kN/mM%#8 % % ~ ImEREZ D ~
ZhLst ~ Zh s ~ ZhLst ~ Zh s ~
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